HYDRAULIK
| 2 ~, Xy yim
CRH 5 RHC BUIZHER ik i= B (o) 7]
CRH 5 RHC B2 R iz B il B T 8L %k, pI S iE A% LA
% 1R A 5 R 2R =) ) st SR B ok iR BBV T o (R S BE . SRAEATR
ERhEgHEGRER. S S5SAEMAGER(SESAKHRER)H S . PRTE
RHC B B—MuBReNiRIE R, HRR7 ((CEZHE) TH—RAGFH
1Esh (5 118°) T, BIAFR iz
EMREFSFE—ST X THAEE.
CRHERLEE—MREFL NI WA RERTHER. Pmax : 400 ... 500 bar
HAETESY
=R mE IEEN &L BEOwgy MEERS
5tk Qmax (I/min) Pmax (bar) Pal Pz
! ! ! ! !
CRH 1 30 500 2.6 M16x 1.5
CRH 2 50 500 26 M 20 x 1.5
CRH 3 80 500 25 M24x15 A
RHC 1 15 500 2.6 M16x1.5 I_ —I
RHC 3 25 500 26 M 20 x 1.5 'Sz
RHC 3 55 500 2.5 M 24 x 1.5 L =
RHC 4 100 500 2.5 M30x 15
RHC 5 150 400 2.8 M 36 x 1.5
RHC 6 200 400 2.5 M42x 1.5
HEedgakk

o MIWRIELL (A 4.2:1) MR
o TR R g i i R

ITE )
CRH 3
CRH El# 519 1/, #A 3

2.5-10

o RIZEN IR (RHCE E)
o WSCHEH W (CRH.VMIRHC.V &)

RHC 5
RHC B 5 1 1®, #H 5

04/01



ik XA K 1

SMNERST
CRH ! RHC !
S LEEL e
//////j H/// ,
75 s
//// | /////
// // // /
g
| v, //
B _ | | /////
7*r71 9 -@- Q E///;// -
NI
s s ) ‘///////
AT
s 7|7 I
7 7| vl
A
SW1
AT JE Sy mm, (R B 4R
HHE i 85y i L _ Sw1 _ sw2 _ E&()
CRH1 | M16x15 T a7 T sws "sw22 ' 60
CRH 2 M20 x 1.5 53 SW10  Sw 24 90
CRH3 M24 x 1.5 61 SW12 SW30 150
RHC1 M16x 1.5 32 SW 6 20
RHC3 M20 x 1.5 375 SW 8 40
RHC3 M24 x 1.5 47 SW10 70
RHC4 M30x 1.5 56 SW12 140
RHC5 M36 x 1.5 67.5 SW 14 250
RHC6 M42 x 1.5 97 SW 19 500
1E AR
o CRH B35 5. 1] ) D 7712 o HAS W “HRBER AU E T B
* RHC B 4% 5. 1] ) D 7165 e iER RS HER, Tk E 700bar)
* RHV BG4 B In] 1B D 3056
e HRP B!y 4= 1 1) D 5116
o RH By #5 5. 10] [ D 6105 AERSRBIEN, BHEMMTHEHET S IXIEH

04/01

25-11





